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PART -1
Answer any three questions from the following :
1.  Explain the definition of conflict and its types. 14
2. Discuss the common frustrations of our society. 14
3. Explain the ‘characteristics of a person’ as the basis of severity of stress. 14

4.  Discuss the characteristics of adjustive demand as a factor affecting severity of stress. 14

5. Discuss the factors affecting mate selection. 14
6.  Discuss the adjustment problems occuring due to premarital behaviour. 14
7.  Why some people don’t mary ? Why most of the people mary ? Explain. 14
8. Describe various marital styles and patterns of marital interaction. 14
PART - 11
9.  Fill in the blanks : (Any Eight) 8
(1) conflict arises when one out of two preferred options has to be selected.

(a) Approach-approach
(b) Avoidance-avoidance

(c) Approach-avoidance
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(2) The mental state that arises when the problem is not solved immediately is called

(a) Stress (b) Frustration (c) Pressure

(3) There are factors of severity of stress.
(a) two (b) three (c) four
(4) Ability to tolerate stress without being disrupted or maladjusted is
(a) Stress tolerance  (b) Severity of stress (c) Expectation of stress
(5) The severity of stress depends on how do we the situation.
(a) Contemplation (b) Meditation (c) Perceive
(6) Future marriage life is affected by dating.
(a) Positively (b) Socially (c) Economically
(7) Love at first sight is known as
(a) Dramatic love (b) Romantic love (¢) Truelove
(8) Marriage preferred by giving a girl in exchange for a girl and deciding the price is
called
(a) Compromise (b) Bargaining (c) Tradition

(9) A marriage in which husband and wife have friendly relations is knownas
(a) Conflict-oriented marriage
(b) Dynamic friendly marriage
(c) Minimal interaction marriage
(10) The reason for getting married is to get the satisfaction of
(a) Psychological needs (b) Sexuality (c) Both

(11) ‘Dating’ is the process done before marriage .
(a) Yes (b) No (¢) Neither

(12) Imbalance caused by frustration and pressure in nervous system is knowns as

(a) Severity of stress (b) Stress tolerance (c) None of above
(13) Every individual experiences stress.
(a) same (b) different (c) None of above

(14) To satisty sexual needs in a socially approved manner is necessary.

(a) marriage (b) influence (c) neutral
(15) In the couples who choose fun marriage for them family is
(a) subsidiary (b) center (c) perifary

(16) When a student is not able to reach the examination hall on time due to traffic, his
cause of frustration is

(a) natural (b) economical (c) physical

MM-110 4



